wE Bt = fE &R B 5
X KR F M B H
= =
X n+ %
0 BT, FETUANOEOHERN 2SS EaRNb 5720, XU
vu— REfTolHAXITENCBIT 2 —&FAIHICBRE2 DL L, A1E
AR LT [E=F~ORMITE 21TV L&, |
T #F B B
= TRVARE=RINE7
Hh %
[ =4 BRMTEE <~ A=V LVATLARELE (1)
7% T R
f B B %
K T B A ¥




v U= R LYV RAT ARBLHE —X

i 17, 059, 900 [




ATHEENRE

P_
T fl FE OB Am o B H =R v B i & %A fié i3
HIER ®ATT
7 7,682, 677
BT LHETT
= 749, 887
AR L 1 FHRE 48
2y 749, 887 749, 887
VR AEKIET. CHETT
=W 2, 236, 480
v R E T 2 BWNERE 58
2V 2, 236, 480 2, 236, 480
Bk & 2 T THET
= 3, 269, 092
ks o T B3 BHRE 6H
# 3, 269, 092 3, 269, 092
igizan I fifT
= 1,119, 744
[y 1 Fd4 FHNERE TH
= 1,119, 744 1, 119, 744
AHFL LFETT
= 37,474




ATHEENRE

P_
T f& - fE B A8l H =R v B i %A 14 2
AT 5 FNERE 8H
= 37, 474 37,474
7 an TEA
= 270, 000
(R 1 #6 SHNERE 98
2y 270, 000 270, 000
BT
= 7,682, 677
e
2V 1, 365, 474
Sl AR
= 164, 474
TEfE BT BHRE 10H
Y 112, 600 112, 600
et 8 ENERE 11E
= 3,584 3,584
el s B9 BHERE 128
= 48, 290 48, 290
e R (FEE )
= 1, 201, 000




ATHEENRE

P_
A R A8l ity H 7 B i % g
T A
7 9, 048, 151
B L
2V 3, 734, 000
[ =I5 Al
= 12, 782, 151
S S
W 2, 726, 849
T B
2V 15, 509, 000
B4
= 1, 550, 900
TG
Y 17, 059, 900




